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Continued analysis of 2 mwn — if he did 1nxn and then had nx»a - that is the proper sequence and mxn
a.  Apparently supports: k110 1, who contends that the mxn is first to be wTpn, then nx>a
b.  Rejection: our nwn merely states that if he did it in this order, it is also satisfactory
i.  Challenge: this is obvious
ii. Answer: per the ruling that after amxn, there is no more pna np1, rather prYN POIVPR NPt
1. Therefore: we would think that there is no mxn done here — 5"np
Revisiting 8110 "1’s description of ideal D12 —9nxn followed by n%ya
a. However: if he did nxoa first, it is valid
b.  Challenge: this is obvious
i.  Rather: if he only did nx3, still valid
ii.  Challenge: ®n>a rules that in such a case, he gets mon
1.  Answer: these are 131277 MmN, as MTIN MIN
(a) Per: 17 would administer mTn man for unseemly PwvITp,
(i) Including: n®oa 01 p, PYVITP in the public square, "1’p w/o 12171V, cancelling a v), claiming a V)
was made under duress, degrading a 72 N>, someone who doesn’t respond to a xnnw for
30 days and a man who lives in his mother-in-law’s house.
1. Note: only if he resides there > if he passes by, it is acceptable
a. Challenge: ™ gave man to a man who would pass by regularly
b. Answer: there were rumors about the two of them
(ii) Alternate (?»77772): 27 only gave man for 217w RY2 NR’22 VPN
1. According to some: even if there were 171V, as it is unseemly
Process of 9nRn — 8N»71 (R:2 NN RNADIN)
a. 9o gives her qu3 or I MY
b. 7o gives her a papyrus or potsherd, worth less than 2", with “*% nwTpn NR Mn” written on it
i. 72w question in Rn»91 is about N2IN2 VW of M1 (wording presented)
»IR’s question of N17 — if a D2’ gave the NN’ a vV, stipulating that she is not thereby nimn to anyone else
a. Lemmal: 1127 established va for nn1’ along lines of Xn»1RT V) — since such a Vi would be invalid, same here
b. Lemma2: they “validated” this as a precaution against a proper pn1’ vy and disallow him from subsequent nya»
c.  Answer (737): they declared it valid as a precaution
i.  Challenge (721 92 737): then we should even declare a blank piece of paper to be “valid”
ii. Defense: that doesn’t even render her unfit for N1, unlike a v with that stipulation
1. Per:v1—even if she is only divorced from her husband; this is the "oan n7” that invalidates for nnn>
Realted question posed by xnn 11 'n7 - “advance v3” for nna
a. Premise: if someone instructs a 71910 to write a Vi for his NO1IR, valid after pPrIW? — it is a valid va
i.  Reason: he has the purview to divorce her at this point
ii.  But: this doesn’t work with a woman with whom he has not current relationship
iii. Question: would it work for a nn2> — if he writes it when she is 19 npp1, to take effect after m;a»  (ypon)
1. Lemmal: since she is linked to him (np’1) she is like his novr (>valid) OR
2. Lemma2: since he didn’t perform anxn on her (yet), invalid
Related question posed by n»n "7 — if he wrote a v to break only np’t or only arn (not both) — valid? (p'n)
a. Lemmal: anrn “rides” atop np>t and it is as if he divorced half a woman (>meaningless) OR
b. Lemma2: perhaps each component is separate (>meaningful)
c.  Question: why not resolve it from ruling of 811: if he gave a v for his Inxn, the n7¥ is freed
i.  Answer: this matter is obvious to 817, but not to n'1n 11
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